379/Eco. | UG/3rd Sem./ECOH-CC-T-V/19

U.G. 3rd Semester Examination - 2019 |

ECONOMICS
[HONOURS]
| Cnurse Code : ECOH-CC-T-V
Full Marks - 60 . Time : 21 Hours

T he f igures in the rzght-hand margin indicate marks.
Candidates are required to give their answers in

 their own words as far as practicable.

/  Answer any ten questions: 2x10=20

a) Cardinal utility approach resolves the water-
diamond paradox on the basis of—
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i)  Marginal ut111ty
A Sawe
i1) .Avefage 'utility
iii) Total utility
GG Sogafarel
Justify your answer. ' 1+1
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b)

d)

g)

What is compensating variation of fall in
income?

Tt <l S ROo{Fe AW S ARGS9 S (i 2
When is commedity bundle X revealed to be
preferred to another bundle Y?

el X-oAely M1 Y-oely AT Qo swew @i
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What is expected utility theory?

ereyifite oot og e

~ Whiat is indirect utility function?

ATATH AT SAFS 52

- What do you mean by expansion path?

T2 AL TS B @RI2
Distinguish between 'law of variable proportion'

and 'law of returns to scale'.

i AR R @ g oo RS
Ny A1 @4

Define elasticity of substitution.
e BRI ik ms |
What are ridge lines?
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Under what condition is the long-run average

cost curve is a straight line parallel to the

horizontal axis?

(I *S WSl 16 I @ e S
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Why is the short run AC curve U-shaped?
TP TG T, (@ U-wiiplon = 12

Write two assumptions of perfectly competitive
market.

*1f efeTaifarers qreica 7' SmwiE S 31|
.What are the conditions for short run
competitive equilibrium?‘

T 7 eferifEror IEiE SRR e

AT

What is a homo Thetic production function?
RICNATF T o 2
What is marginal revenue product (MRP)?

NS = Oeoiin fF2

2.  Answer any four of the following: 5x4=2()
@I BATS A Ted M ¢
a) Expléin-Marshallian law of Equi-marginal utility.
fiteT el Seicaifror RS ot 31
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b)

d)"

"If the production function is homogeneous of
degree k, the marginal productivities will be

homogeneous of degree.(k-1)"—. Prove.

‘i AASIOI B Seowed Wl k 2 SRS
&S TerAmea Tiat (k-1) 203 17— 34 |

~ Show that for a Cobb-Douglas production

function the elasticity of substitution is equal

to 1.

@8 @ Cobb-Douglas SAWH SCAFEH (FF
ez ffRemer N 1 =1

Explain the relatlonshlp between short run

average cost (AC) and marglnal cost (MC).
TP 51G 2 @ 2SS Y T IS0 (TS |-

. Can a perfectly competitive firm incur loss at

short run? Explain.

Wﬁeﬁaﬁﬁwm%ﬁf——%mw
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State and prove product exhaustion theorem.
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3/ Answer any wo of the following: 10%x2=20
@@ T e beawe s
j’( What do you mean by 'backward bending supply

- d)
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curve of labour"? Examine the relevance of
income effect and substitution effect in its

derivation. | 4+6
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~Examine how a firm chooses the optimal

combination of inputs by maximising output
sﬁbjéct. to cost constraint. 10
T gl (A Gl TR Mg Teim
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"Long run profit is zero under perfect
competition."—Explain. 10
“vﬁa‘“rmﬁtmwﬁmawwﬂn”
TG R

Explain the-; effect of external economies and

diseconomies on the shape of industry supply

curve under perfect-competition. 545
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